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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]

2000 -

1750 ~

1500 ~

1250 ~

1000 ~

750 -

500 -

0 50 100 150 200 250



Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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XX6

AfiE) | EBIAT (FD) | EBE (EHA/HK) | XK EFE

07:35 29 10.0 i FiEA@07:35 (KRAIERSE)
08:10 29 10.0 i FiEA@08:10 (K FA{EESE)
08:45 29 10.0 i FiHRe08:45 (KRF{ERLEE)
09:20 29 10.0 i FiHA@09:20 (RFEREE)
09:55 29 10.0 i FEA@09:55 (KAL)
10:40 29 10.0 RS FnHR@10:40 (REEREE)
11:20 29 10.0 i FnHfe11:20 (REERES)
12:00 29 10.0 i Fff@12:00 (K AERE)
12:35 29 10.0 i FnHR@12:35 (REEREE)
13:10 29 10.0 i FEfe13:10 (KRAERKSE)
13:50 29 10.0 i FiEA@13:50 (KAIERSE)
14:35 29 10.0 i FiEA@14:35 (KAERSE)
15:30 29 10.0 i FiHRe15:30 (KRFERLEE)
2it(377.0 (13%) 130.0 3EUHKEC: 1455. 3000000000002, PH: 6.9

unusual large postFgEt from yesterday (39), set to 30.0 ml.
FEIRECE (1323. 0 vs 3458.0) 55




XX6_0, Day=135 (2025-03-10)
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XX6

FfiE) | EBIATK (FD) | ERE (EA/K) | XK EFE

07:55 170 10.0 {5 1RRi1%@07:55 (K FAfER%=2)
08:30 170 10.0 i B31%@08:30 (KAL)
09:05 170 10.0 i 1%@09:05 (RFIERES)
09:35 170 10.0 i ’R1%@09:35 (kAfEREE)
10:20 170 10.0 i B21%@10:20 (FREERE)
11:00 170 10.0 i B2i8@11:00 (FREERSR)
11:45 170 10.0 i Rig&e11:45 (RAHEHE)
12:20 170 10.0 i Bi%@12:20 (REERE)
12:55 170 10.0 i BRi&@12:55 (FKPBIERE)
13:30 170 10.0 i BRi%013:30 (RFERSE)
14:05 170 10.0 i B218014:05 (REEHE)
14:45 170 10.0 i BRi&@14:45 (KPBERE)
15:30 170 10.0 i Bi%015:30 (RFERE)
2it]2210.0 (13%) 130.0 3EHKEC: 1600, PH: 6.6

MEREHERE STMEERT (72.0 : 90.0), AREKREERE
LOREBIRTC R IRIE R E Y (242.0 vs 27.0))

ZRIASERRIERE90. 0 ml.

HEEKECE (1712.0 vs 3564.0) 15



XX6_0, Day=134.0 (2025-03-09)
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XX6

TERBHLER E STREART (53.0 :

AriE) | EBIATK (FD) | EBE (EH/K) | XK ERE

08:00 28 10.0 i ;R1%@08:00 (RFERLES)
08:30 28 10.0 i {R1%@08:30 (K FH1ERLES)
09:00 28 10.0 i B31%@09:00 (FKAERH:E)
09:30 28 10.0 i 1%@09:30 (RFIERES)
10:00 28 10.0 {5 1’Ri1%@10:00 (K FAfERA=R)
10:30 28 10.0 i BRi1%@10:30 (K PBERE)
11:05 28 10.0 i Bi8@11:05 (FREERSR)
11:40 28 10.0 i FRi%e11:40 (RAERSS)
12:10 28 10.0 i Big012:10 (REAEH:E)
12:40 28 10.0 i Rige12:40 (kAfEREE)
13:10 28 10.0 i BRige13:10 (KPHERKE)
13:40 28 10.0 i B218013:40 (KREAEHE)
14:15 28 10.0 i Rige14:15 CkKBfERE)
14:50 28 10.0 i BRi&014:50 (REERE)
15:35 28 10.0 i 1RRi%@15:35 (KAL)
2it]420.0 (15¥%) 150. 0 3203 KEC: 2500, PH: 6.3

LOREBRTC R IRMERE Y (170.0 vs 26.0))

ZRIASERRERE66. 0 ml.

66.0), FIREKRFERME

unusual large postFgEt from yesterday (48), set to 30.0 ml.

E&PH (7.26) RS
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XX6

TERBHLER E STRHREART (53.0 :

BYiE) | GEBERTIC (BD) | EBE (EAH/#K) | XS ERE

08:25 170 20.0 i B3i%@08:25 (KEERHZ:E)
09:25 170 20.0 i 18009 :25 (KRFIERLES)
10:25 170 20.0 i 1RRi%@10:25 (K BERK=R)
11:45 170 20.0 i BRige11:45 (KPBHERE)
23t 680.0 (4%%) 80.0 B UHKEC: 2500, PH: 6.2

LOREBRTC R IRMEREY (170.0 vs 51.0))

PRIASEPR2iRE66. 0 ml.
EI&PH (7.31) /e

66.0), FIREKRFERME
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XX6_0, Day=132.0 (2025-03-07)

U e e e e B Bt M - 300
P vo, FRV, ET - VI, V0, FVI, FVO, FRV, adjFRV, ET

15 4
199
170 174 16 L 200

10 429 141
105 100
5 | I 65
1],

v a4
FRV

1

[=2]
o
1

IS
o
1
| |
|
|

N
o
1

FRV (ml plant-1)

—_

.0
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Warning: lcol ['PHB’,| 'PHC’'] missing
@00 300

1

Bylnit @D135 03:47: ET=123 Fg=200.0 Ro=53.0 t

75 A
- 200

50 ~
- 100

25
100 1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 600

snlzz| B | BB | B | B[ 8B B 5 5 5 B & | FB [ BA | BAH 5 5 5 B 5

75 A i
ByEt @D132 17:45: ET=109 EFg=199. 0 Ro=nan L 4 . 4 @ ;C © @ e ) © - 200
i 1

50 |

: e—o—o—0—o 100

25
b © &——

100 P PN P SN _ m 800
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
2 N O O O 0 0 0 0 0 0 0 0 N I

75 A i
ByWoFv @D135 03}47: ET=65 Fg=80.0 Ro=8.0 - 200
i 1

50 |

1
——& © - 100

95 : $—8 8 S o o
p— o —& —0—|6—©—

10— _a __la & & o . l\¥ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

s EZE B R IB B [ B B B BB | B B B %% % B B B|%[8 8 &8]%

0.6

0.4

0.2 A

808 3

—_— 4
[ ] | _obs
400 —@— PPFD_obs

200 -

—— RH
o RH_obs
RHo_obs

60

40 ~

1:25f ”W'\ e v f

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



hour

100

105
55 80
50

- 60
:15

- 40
:20
:20 20
:30

-0




XX6

AfiE) | EBIAT (FD) | EBE (EHA/K) | XK EFE

08:05 170 20.0 i {’R1%@08:05 (kAfEEE)
08:55 170 20.0 i B31%@08:55 (FK L)
09:50 170 20.0 i ’R1%@09:50 (KAL)
11:15 170 20.0 i Ri%e11:15 (RAERSE)
12:20 170 20.0 i BRi&@12:20 (FKPBHEREE)
13:20 170 20.0 i Bi%013:20 (KREEHZE)
14:30 170 20.0 i B18@14:30 (KRFERLEE)
2i3t]1190.0 (7% 140.0 EUHKEC: 2500, PH: 6.3

ERGEBR AT CRIRIRBYEN (170.0 vs 54.0))

BAIASLFREIRE63. 0 ml.
EI%PH (7.34) e




XX6_0, Day=131.0 (2025-03-06)

W]
VI,V0, FRV, ET - VI, V0, FVI, EVO, FRV, adjFRV, ET

15

10

190

170
139
| 93

B (=23
o o
I I

N
o
I

FRV (ml plant-1)

. v
FRV

o

e
©
1

Warning: lcol ['WC', [WC2' ] missing

TargetEC=2000. 0, TargetSetEC=2500

Warning: lcol ['ECB’, 'ECC’'] missing

©
N
1

Warning

: lcol

TargetPH=6. 0, TargetSetPH=6.3

['PHB',| "PHC'] missing

e
S o
1

> [=2} ©
o o
1 1

ET (ml/hr/plant)

N
o
1

]

Bylnit @135 03

|
I47:

ET=124 Fg=180.0 Ro=43.0

L 4
PN

Lo

11

3

Ln.
4

5 6

7

B~

o

14

15

21

22

23

[e )
o
1

i

[

BB | B

i

E3
5]

=
B

E3
B

E3
5]

=
B

60

40 -

ET (ml/hr/plant)

-
o

L 4
PN

@
B —

e &
7~ U —

ByEt @D131 17:42: ET=142 Fg=257.0 Ro=nan

& o

T
—_
o
o

cumET (ml/plant)

o

1 3

5

7

8 9

14

15

19

20

21

22

23

o
1
ﬁO[
&P
| ™

==}

ES E3
5 G

[

BB | B

i

BB | B

E3
5]

=
B

=
B

£33
B

E3
B

E3
5]

=
B

ET (ml/hr/plant)

o—o —o—
7~ W —

($)]

]
ByWoFv @D135 03t47: ET=105 Fg=140.0 Ro=32.0

wW
o
o

T
N
o
o

cumET (ml/plant)

T
—_
o
o

16

17

18

19

20

21

22

23

0.8 A

f==1
T
E=-1
Tt

E3

B

=
B

E3
B

E3
B

E3
5]

=
B

E3
B

E3
B

E3
5]

=
B

£33
B

E3
B

E3
5]

=
B

0.6

0.4+

0.2+

1000 +

750

| _obs

PPFD_obs

40 -

20 -

RH
[ ] RH_obs
[ ) RHo_obs

1 1

w —_— N w
S o S S
<) S S S
cumET (ml/plant)

T
N
o
o



